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Alt+S (¥ Ctrl+S (¥ Ctrl+0 (¥ Alt+0 ()
Y- The flower box was light .......... for her to lift.
V) enough Y)so ) too ¥) such
¥¥- The telephone .......... frequently this morning distracted us from studying.
V) which ring Y) ringing ¥) was ringing ) rung
¥Y- I am going to leave now .......... be on time for the meeting.
V) so that Y) in addition ¥) so as to ¥) in addition to
VY- After an earthquake, turn on the radio and listen for .......... from police and fire departments.
V) audience Y) instruments ¥) confidence ¥) instructions
Yo-Qil.......... plays an important role in the economic life of our country and we can’t do without it.
V) industry Y) sample ¥) experiment ¥) function
¥7- It has always beenmy .......... to have flying course.
V) vacation Y) dream ) service ¥) design

Cloze Test:
Earthquake is shaking of the ground caused by the sudden breaking and moving of large parts of the earth’s
rocky outer layer. Earthquakes are among the most ...YV... events on earth, and the result can be ... YA... . A strong
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earthquake may release energy )+« ++ times as much as that of the first atomic bomb. Rock ... ¥4... during an
earthquake can make rivers change their direction. Earthquakes cause great ... Y+... and loss of life. Large
earthquakes under the ocean can create a series of ... ¥)..., destructive waves. The force of an earthquake ... ¥V...
on how much rock breaks and how far it moves. On average, a powerful earthquake occurs less than once every
two years.

Yv-

;2\ available Y) interesting ¥) powerful ¥) fashionable

;z_damaging Y) developing ) amusing ¥) boring

V) -entertainrnent Y) excitement ) embarrassment ¥) movement

¥

;) projection Y) damage ) operation ¥) protection
=

;)V global ) urgent ) brief ). huge

V) -depends Y) focuses ¥) decides ¥) carries

Reading Comprehension:

In Pakistan, the role of women is changing. Although wearing traditional clothing and staying at home used to
be the rule, today many women are going into professions such as medicine, law and engineering. They make up
large part of the workers in businesses and factories, and in addition, they are working up to important jobs which
used to be held basically by men. There are even some businesses which are run completely by women.

however, they still run up against some limitations since many government jobs are closed to them and certain
jobs are not considered honorable for women. In general, they fill they have more freedom now and have a choice
to their old way of life.

¥Y- We understand from the passage the women ......... .

V) life style has not been changed at all Y) have more freedom than before

¥) are against their government ¥) prefer government jobs more often
¥¥- According to the passage, we understand that women in Pakistan used to .......... .
V) wear clothes Y) wear traditional clothes

¥) study medicine and law ¥ work in businesses and factories

¥4- Which of the following would be the most suitable title for the passage?
V) Leadership is difficult for women to do Y) Women get equal pay for equal work
¥) Women think that they are free ¥) Women in Pakistan enter men’s world





